1. A log skidder has 120 kW of power.  In what time can it skid a 280 kg log a distance of 156 m if the coefficient of friction between the log and the ground is .45?

2. A Dog team can put out a total of 2.5 kW.  They skid a 312 kg sled a distance of 340 m in 93 seconds.  What must be the coefficient of friction between the sled and the snow?

3. A Horse team can pull a 1500 kg sled a distance of 56 m in 34 seconds.  What is their power output if the coefficient of friction is .36?

4. A 150 HP tractor can drag a 350 kg load how far in a minute if the coefficient of friction between the load and the ground is .78?  1 HP = 745.7 Watts

